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ER29EE EBMRPERFTAELFEEXS 20174E9 A 168 (£) ~17H (A)
R —RxR
By FRRTEE LR
A fF i H 1L 2L 34 447 5L 6 L 7hr 8 {ir
BFUE | 9/16 100m #% BHE 1 12.27 |f6A F 1 12.74 |k Bk 1 12.83 |EifE EAH 1 12.91 =g & 1 13.01 [ g 1 13.07 [HH I&HF 1 13.10 |ZGH HEth 1 13. 20
A 0.7 [E& 0.7 KRREL -0.7 ‘BN 0.7 PRI 0.7 PKRREBE= -0.7 KIEEM 0.7 | RHE -0.7
BA24E | 9/16 100m |#EH —& 2 11.56 | ftja 2 2 11.78 |Baky &K 2 11.78 |G B 2 11.94 [Fe2E ki 2 12.20 | BEKER 2 12. 34 |[ BaR 2 12.41 |BrE A 2 12. 68
KR 2.7 |EE +2.7 KRE= +2.7 |G 2.7 KIRE I 2.7 |FE +2.7 KIREM 2.7 | R +2.7
BT 9/117 200m |JEH —& 2 24.11 |HfG R 2 24.79 |FE k2 24.86 fifEF BEEL 1 24.89 | H+E B 2 25.40 R BsF 1 25.75 B K 2 25. 87
KR +2.9 | R +2.9 PRPGEI +2.9 [ +2.9 |EiE +2.9 RIRGEL +2.9 PRIUGHT +2.9
BT 9/16 400m |l BEME 2 56.60 \FZA It 2 59.81 gk 2 1:00.63 |Hff #Hrk 1 1:02.47 &% Ke 2 1:03.62 g 15 2 1:04.56 g & 2 1:06.06 |¥TH $EA 2 1:08. 54
1) IR KRF = JI17E NES| KR 1 B
B 9/117 800m |l BME 2 2:08.02 |FiA HERK 2 2:12.27 [ EE 2 2:14.24 | BB 2 2:17.03 [gvAK 2 2:17.09 /& B(E 1 2:21.03 |(HiE B 2 2:26.57 | KMJFEBEA 1 2:35.35
1) I PG N KRE= 1) /INE fSia]
BT 9/16 1500m |[HF HEH 2 4:31.75 [k &3 2 4:33.97 |¥E%F &M 2 4:41.96 | KF ) 2 4:43.17 JEEH B 2 4:43.30 |#5K &3 1 4:47.63 /& BRE 1 4:48.58 [ AR 1 4:51.58
R 1) JIvE FIHL NES| R R R
B 9/17) 3000m |A¥ Wk 2 9:39.25 | &3} 2 9:47.98 | KA T 2 10:01. 24 |Hf WA 2 10:03.95 gk f&3F 1 10:13.28 [P JAK 1 10:24.89 HE EK 1 10:33.34 |FrH FfE 2 10:40.76
R G1o] E 1P R 1) R R
B 9/17) 110mH [J5iE HfE 2 17.21 |EifE  JEBE 1 19.74 |21 K% 2 19.78 |#5K (& 2 21.35 GEF Rk 1 2143 [ m 1 22.53 | L@ WE 1 22. 69
(0. 914m) /NE +0.8 KIREE = +0.8 KIREE = +0.8 |EI 40.8 |E & 40.8 |E & +0.8 [ EHFM +0.8
BT 9/17) 4X100m |HIEA 48. 74 |FRIBA 49. 12 KREE T 49. 16 | KIREEY 49.48 | & 19.96 | KIREE= 50. 07 |/NEA 50.93 | BHmA 51.86
HH A 2 W K2 S - M &HE 1 A P 1 [S) I T gk A1 S 1
AE OB 1 s ER 2 FFE kg 2 B BEE 2 R B 2 BRf &K 2 TR OE 2 ek B 2
g & 2 s $HA 2 I R 2 JERLIER 2 FOL WE 1 VeiE B 2 WE OEE 1 il k2
WK 2 A H 2 B AR 2 Ky wmt 2 dill B 2 FH OKR7%E 2 el KM 2 AR R 2
B 9/16 Ak TERE RE 2 m62 |4 JEE 2 Im59 [WE R 1 Im45 | @ 5 1 Im40 |ZHi  #EX 1 1m30
/NE /NE /INE B-Siai] R
B 9/117 A Bk Bakd f&K 2 5m73 |G BTk 1 5m20 |BF)Il ZEK 2 5ml9 I & 2 5m05 Py EE 2 4m88 Mk BRA 2 4m85 [k Rk 2 4m64 |EIl EME 1 4m60
KRHF = -1.1 i +0.6 | RYUH I +1.2 | TR -0.4 |RB 2.1 DRI = +0.4 |/hE +0.2 | RHF +1.1
B 9/17 AL & BER 2 Im36 |R#E A 2 9m20 \EHE MESR 1 8m33 |EiE  EAk 2 8m25 | B Ak 2 8m08 | KA HEEA 2 76 |4 KE 2 mo8 [HH 2 6m75
(5.000kg) | KiRHM GRJII P PG i) 1P pint] =] R

GR: R ¥tk




Page:1 of 1

TR29FEE BEBMRPERFARELEHREREXS 20174£9A 168 (£) ~178 (B)
—Ex
o F KiRTTE R ERRES
AfF fiH 117 2L 3L 447 5L 6 L. 7 8L
ZF14E | 9/16 100m |l EBE 1 13.57 | BV Oy 1 13.69 |75k BEF 1 13.78 [ghK FYD 1 13.97 |fHiEA-E 1 14.17 NEEBESE 7 1 14.27 |70 Wi 1 14.32 [ KA #fE 1 14.52
KRN -0.3 DRI -0.3 |&Em -0.3 KR -0.3 JIlFE -0.3 PRI -0.3 /hE -0.3 KRN -0.3
ZF2F | 9/16 100m &R F= 2 13.27 | Kl B 2 13.40 | K& E4 2 13.59 |EifE £H 2 13.61 |JHH  #izk 2 13.63 |JIlG - #iftE 2 13.79 sEFEA 2 13.85 |JEHs g 2 14. 46
18 +1.1 | RS +1.1 R L1 PRPRGE= +11 | L1 RS +1.1 PRPGE= +11 PRGBS +1.1
- 9/17 200m |HH HE 2 28.08 |Hifs EF 2 28.23 Mk RZE 1 28.25 Il #ift 2 28.35 |\ KiF BH 2 28.40 |\ Kl HAm 2 28.62 |kH WEEE 2 28.93
ik +3.6 KIRE= +3.6 |Eif +3.6 | IR +3.6 ARG +3.6 | +3.6 [/E +3.6
'Ss 9/117 800m | ¥k 2 2:22.28 B/ EH 1 2:23.24 |iE K1 2:26.26 |JEH FiZk 1 2:29. 12 [HPIBOEY 2 2:33.03 KM e 1 2:36.95 FUJI Ffy 2 2:38.68 JLO &A1 2:41. 46
R 1 KRFA 1] FHAe PSUS = B} JI7E
“F 9/16 | 1500m @i ®IK 2 4:53.77 | MR 1 4:59.50 Mg K51 5:08.46 |FPIBOEYD 2 5:14.16 [fail BAF] 1 5:19.47 [FUJII Ry 2 5:21.81 |k mEss 1 5:26.56 | KM HEE 1 5:27. 61
R 1] KRFA FHAe KRR B} B} PSS EN
'S 9/17, 100mH | T= 2 16.11 [fHE 4L 2 16.78 |Pkf B 2 16.89 |5eFE 4L 2 17.13 [B§iL X&F 2 17.24 [Py MR 2 18.04 |¥iff £ 1 19.13 |[ZHHE L& 2 21.74
(0. 762m) B -1.7 PRI L7 BN BRAESN = 1.7 KRR = -1.7 Bk -7 R -7 R -1.7
- 9/17) 4X100m |KEBA 52.38 A 53.60 KIREZE= 54. 17 KREE T 54.55 | KIREEMY 54.66 |/INE 55.23 'EAN 55.59 |JII7H A 57. 04
a2 AR THE 2 s RPN 2 NERBESEF 1 EHE OE 2 SRR 1 g FrE01 PrE KA 2
Jlies - Hifs 2 AR EiE 2 FEFEA I 2 ) A 2 mILOERE 1 KH HEEL 2 JiE ikl 2 FH A 2
R BH 2 A R 2 s AL 2 & HE 1 M R 1 il Z&E 1 BRES DA 2 wh OHEE 2
Kl HA 2 BE T 2 HE 2 VoD 1 HE FYE 2 VeflFi< il 2 VR B 2 PEmrox 1
S 9/17 Ak W HHE 2 Im42 /bR BEAE 2 m42 ZHH  LEFE 2 1m39 |Beiatemss 1 B 1m25 giA EHE 2 Im25 [FHAMRA 1 1m25
p ST FHHL IR R k% 1 & 1 IR
B B 2 KRS
- 9/16 A Bk s L 2 Am85 | A1l FERE 2 4m76 | BRSO ZER 2 4mb4 #AA  THE 2 4mb3 G ik 2 4m37 FYH KA 2 m22 g Ek 2 4m20 |[EiEV O 1 4m16
KR = +0.4 |TRY +1.5 | -1.6 A +L1|HA -0.2 I -0.8 KREM +0.1 PRYUHEI -1.2
= 9/16 fil JL i ERE 2 8ml6 FFH MR 2 ™m0 HFA P 2 a8 FHEFE L 2 m36 M SRR 2 6m53 | EkE  ALE 1 6ml7 Rl A 1 6m16 |JIlikE  Hitx 2 5m83
(2.721kg)  RRFH I 515 KR T €] KR KR — )11 76






